


VIAINTTTORICS

Waves

e Wave Motion

O

 Transverse and Longitudinal Waves

e Interference

e Standing waves
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WAVES CHARACTERISTICS ;’J ””J

Frequency:
number of to-and-fro vibrations in unit time

Unit: 1 vibration per second = 1 Hertz

Period:
defined as the time it takes for a complete vibration
Unit: any unit of time, often second
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The distance between adjacent peaks in the direction of
travel for a transverse wave is its

frequency.
period.
wavelength.

sligl =

amplitude.
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The distance between adjacent peaks in the direction of
travel for a transverse wave is its

frequency.
period.
wavelength.

O 0o

amplitude.

Explanation:

Or between adjacent troughs or any adjacent
identical parts of the waveform.



Relationship between frequency and period:
Frequency = 1/period
Unit: Hertz (Hz)
Period = 1/frequency

Unit: second (s)

The source of all waves is a vibration.

Higher frequency means increased rate of energy
transfer—shorter wavelengths.



If the frequency of a particular wave is 20 Hz,

ANSWER CHECK

its period is

A.

B.
C
D

1/,, second.
20 seconds.
more than 20 seconds.
none of the above.




If the frequency of a particular wave is 20 Hz,
its period is

A. 1/,,second.

B. 20 seconds.

C. more than 20 seconds.
D. none of the above.

Explanation:
Note whenf=20Hz, T=1/f=1/(20 Hz) = 1/20
second.



WAVE MOTION

Wave speed:

 describes how fast a disturbance moves through a
medium

* related to the frequency and wavelength of a wave

Speed = Frequency x Wavelength
V=FfxA
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The vibrations along a transverse wave move in a direction
A. along the wave.

B. perpendicular to the wave.

C. Both of the above.

D. Neither of the above.



e

The vibrations along a transverse wave move in a direction
A. along the wave.

B. perpendicular to the wave.

C. Both of the above.

D. Neither of the above.

Explanation:

The vibrations in a longitudinal wave, in contrast, are
along (or parallel to) the direction of wave travel.
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STANDING WAVES

Node:
(null point)

o

Incident wave

——— 3
- )

Reflected wave

Incident wave
—

Out of

phase Reflected wave

Incident wave
—

Reflected wave
In phase
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